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RIER b FR R X G =

HA3I—2 BEMICHBRTILEESNIERICEIZEE/2) ) _ BAESE | FRISEE
StEftouE | #EES 067D1002 [ FHRT 4 IR | FREEHh  GEIRTMERR
SMERIHhD T in(ZhEEdT 51 ih SMERHN
ﬁg TREOBEBOEILHOKRES TEFEDOHBEILNDOKRES TEFEOBBOEILHDOKRES TREOHBESLIDKRES
Rl ome | BTV et | B2 | T | e | =2 | BT e | B2 | T e | & T
’ 100kN/mM%E#BZ % -l -~ - -|3mEBZD -~ - - —| 100kN/m%#8% % - -~ - -|3mZEi#BZ 5 -~ - - -
ZHnLs 1.00/0.00 ~ 472 58.80| = Ll4t+ | 0.00 ~ 0.00| 1.65 8.32 s 1.00f 500 ~ 5.00 58.80| =#nLls | 500 ~ 500 1.65 8.32
9 100kN/mM%E#BZ % -l -~ - -|3mZEBZB -~ - - —| 100kN/m#%#8% % - -~ - -|3mZEi#BZ 5 -~ - - -
ZHnLs 1.00]0.00 ~ 491 61.17| Z=hLl4+ | 0.00 ~ 0.00|] 1.58 7.99 s 1.00f 500 ~ 550 61.17| x| 500 ~ 550 1.58 7.99
3 100kN/mM%EBZ % -l -~ - -|3mEFBZ B -~ - - —| 100kN/m%#8% % - -~ - - 3mZEi#BZ 5 -~ - - -
ZHnLs 1.00/0.00 ~ 492 61.31| ZzhLls | 0.00 ~ 0.00| 1.57 7.91 s 1.00f 500 ~ 5.60 61.31] =nkls | 500 ~ 560 1.57 7.91
4 100kN/mM%#BZ % -l -~ - -|3mEBZB -~ - - —| 100kN/m%#8% % - -~ - - 3mZEi#BZ 5 -~ - - -
s 1.00/0.00 ~ 543 67.75| =h L4t 1000 ~ 0.00| 1.61 8.12 s 1.00f 500 ~ 6.20 67.75| =nkls | 500 ~ 6.20( 1.61 8.12
5 100kN/mM%E#BZ % -l -~ - -|3mEBZB -~ - - —| 100kN/m%#8% % - -~ - - 3mZEi#BZ 5 -~ - - -
ZHnLs 1.00]0.00 ~ 5.71 7136 =nLlst 1 0.00 ~ 0.00| 1.59 8.02 s 1.00f 500 ~ 6.80 71.36f =nLlst | 5.00 ~ 6.80] 1.59 8.02
6 100kN/mM%EBZ % -l -~ - -|3mEBZ5 -~ - - —-| 100kN/m%#8% % - -~ - -|3mZEi#BZ 5 -~ - - -
ZHnLs 1.00/0.00 ~ 5.10 63.61| ZznLl4t |0.00 ~ 0.00| 1.58 7.99 s 1.00f 500 ~ 5380 63.61| =Ly | 500 ~ 580 1.58 7.99
7 100kN/mM%E#BZ % -l -~ - -|3mEBZD -~ - - —| 100kN/m#%#8% % - -~ - - 3mZEi#BZ 5 -~ - - -
s 1.00/0.00 ~ 6.06 76.01| ZhLlst | 0.00 ~ 0.00| 1.68 8.51 s 1.00f 500 ~ 7.00 76.01| =hLl4t | 5.00 ~ 7.00] 1.68 8.51
8 100kN/MZ#2Z % -l -~ - -|3m%EiEEZ S -~ - - —| 100kN/mM%#8Z % - -~ - -|3m%EiEZ % -~ - - -
ZHnLs 1.00{0.00 ~ 5.80 7249 =nLlst 1000 ~ 0.00| 1.63 8.26 st 1.00f 500 ~ 6.70 7249 =nist | 500 ~ 6.70] 1.63 8.26
9 100kN/ MZ#2 2 % -l -~ - -|3m%EiEBEZ S -~ - - —| 100kN/mM%#8Z % - -~ - -|3m%EiEZ % -~ - - -
zHnLs 1.00{0.00 ~ 5.60 69.98| =1 Llst 1000 ~ 0.00| 1.61 8.12 st 1.00f 500 ~ 6.50 69.98| =nList | 500 ~ 6.50( 1.61 8.12
10 100kN/ MZ#2 2 % -l -~ - -|3m%EiEEZ S -~ - - —| 100kN/mM%#8Z % - -~ - -|3m%EiEZ % -~ - - -
zHnLs 1.00{0.00 ~ 6.42 80.76| =sList [0.00 ~ 0.00| 1.65 8.32 st 1.00f 500 ~ 7.80 80.76| =snList | 500 ~ 7.80[ 1.65 8.32
» 100kN/MZ#8 2 % -l -~ - -|3mZEiEEZ S -~ - - —| 100kN/mM%#8Z % - -~ - -|3m%iEZ % -~ - - -
zHnLs 1.00{0.00 ~ 6.53 82.32| x4t 000 ~ 0.00| 1.65 8.35 st 1.00f 500 ~ 8.00 82.32| =nkis | 500 ~ 8.00( 1.65 8.35
19 100kN/MZ#2Z % -l -~ - -|3m%EiEEZ S -~ - - —| 100kN/mM%#8Z % - -~ - -|3m%iEZ % -~ - - -
ZzHnLs 1.00{0.00 ~ 584 73.05| N4t 10.00 ~ 0.00| 1.57 7.93 st 1.00f 500 ~ 7.20 73.05 =nist | 500 ~ 7.201 1.57 7.93
13 100kN/MZ#2Z % -l -~ - -|3m%EiBZ S -~ - - —| 100kN/mM%#8Z % - -~ - -|3m%EiEZ % -~ - - -
s 1.00{0.00 ~ 6.08 76.17| =4t 10.00 ~ 0.00| 1.57 7.92 TnLst 1.00f 500 ~ 7.70 7617 =hist | 500 ~ 7.70] 1.57 7.92
1 100kN/MZ#22 % -l -~ - -|3m%EiEBZ S -~ - - —| 100kN/mM%#8Z % - -~ - -|3m%iEZ % -~ - - -
zHnLs 1.00{0.00 ~ 6.12 76.74| =4t 10.00 ~ 0.00| 1.57 7.91 znLst 1.00f 500 ~ 7.80 76.74| =nist | 500 ~ 7.80| 1.57 7.91
15 100kN/MZ#2Z % -l -~ - -|3m%EiBZ S -~ - - —| 100kN/mM%#8Z % - -~ - -|3m%iEZ % -~ - - -
ZFh Lt 1.00/0.00 ~ 6.46 81.39] #n L4 (000 ~ 0.00| 1.58 7.99 ZhLst 1.00f 500 ~ 840 81.39] #nLl4t | 500 ~ 8.40| 1.58 7.99




RIER b FR R X G =

HA3I—2 BEMICHERTILEESNIERICEIZEE 22 ) _ BAESE | FRISEE
StEftouE | #EES 067D1002 [ B4 | R [ PrfEh GERTER
SMERIHhD T in(ZhEEdT 51 ih SMERHN
ﬁ%ﬁa TREOBEBOEILHOKRES TEFEDOHBEILNDOKRES TEFEOBBOEILHDOKRES TREOHBESLIDKRES
Rl ome | BTV et | B2 | T | e | =2 | BT e | B2 | T e | & T
16 100kN/mM%E#BZ % -l -~ - -|3mEBZD -~ - - —| 100kN/m%#8% % - -~ - -|3mZEi#BZ 5 -~ - - -
ZHnLs 1.00/0.00 ~ 6.87 86.98| =HList [0.00 ~ 0.00| 1.60 8.07 s 1.00f 500 ~ 9.20 86.98| T#Lis | 500 ~ 9.20f 1.60 8.07
100kN/mM%E#BZ % ~ ImERBAD ~ 100kN/ m#%E#8% % ~ ImEHBRD ~
ZhLst ~ Lt ~ Zn LSt ~ ZNLS ~
100kN/mM%EBZ % ~ 3ImERBAD ~ 100kN/ m#%#8 % % ~ ImEHBRD ~
ZhLst ~ Lt ~ Zh LSt ~ ZNLS ~
100kN/mM%#BZ % ~ 3ImERBAD ~ 100kN/ m#%#8 % % ~ ImEHBRD ~
Zh st ~ Zn Lt ~ Zn LSt ~ ZNLS ~
100kN/mM%E#BZ % ~ 3ImERBAD ~ 100kN/ m#%E#B % % ~ ImEHBRD ~
ZhList ~ LSt ~ Zn LSt ~ ZNLS ~
100kN/mM%EBZ % ~ 3ImERBAD ~ 100kN/ m#%E#B% % ~ ImEHBRD ~
ZhLst ~ Zn Lt ~ Zn LSt ~ ZNLS ~
100kN/mM%E#BZ % ~ 3ImERBAD ~ 100kN/ m#%E#8Z% % ~ ImEHBAD ~
ZhLst ~ Zn LSt ~ Zh LSt ~ ZNLS ~
100kN/MZ#2Z % ~ 3mEBR D ~ 100kN/ Mm%z 5 ~ 3mEHEAS ~
Zzhsn ~ ZnLst ~ ZnLst ~ Zzhusn ~
100kN/ MZ#2 2 % ~ 3mEBRD ~ 100kN/ Mm%z 5 ~ 3ImEHEAS ~
Zhsn ~ Lot ~ ZnLst ~ Zhusn ~
100kN/ MZ#2 2 % ~ 3mEERD ~ 100kN/ Mm%z 5 ~ 3mEHEAS ~
zhsn ~ ZnLst ~ ZnLst ~ Zhusn ~
100kN/MZ#8 2 % ~ 3mEBRD ~ 100kN/ Mm%z 5 ~ 3ImEHEAS ~
Zhsn ~ st ~ ZznLst ~ Zhusn ~
100kN/MZ#2Z % ~ 3mEERD ~ 100kN/ Mm%z 5 ~ 3ImEHEAS ~
zhsn ~ ZnLst ~ ZznLst ~ Zhusn ~
100kN/MZ#2Z % ~ 3mEBRD ~ 100kN/ Mm%z 5 ~ 3mEHEAS ~
Zhsn ~ Lot ~ ZnLst ~ Zhusn ~
100kN/MZ#22 % ~ 3mEERD ~ 100kN/ Mm%z 5 ~ 3ImEHEAS ~
zhsn ~ Lot ~ ZnLst ~ Zhusn ~
100kN/MZ#2Z % ~ 3mEBRD ~ 100kN/ Mm%z 5 ~ 3mEHEAS ~
zhsn ~ Zzh s ~ ZnLst ~ Zzhusn ~ _
B2FR



